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AGIUSE 5131 p 3 8 Jo (81 slons ot NN 89 39 0920

POLYGON TRAVERSE USING CLOCKWISE ANGLES AND
COMPUTATIONS

4 1

180 00 00

27.34, 66 06 00
58.68, 111 42 00
31.18, 135 29 00
91.08, 46 45 00
1000.000, 1000.000
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~~~~~~~~~~~~~~~~~~~~~~~~~~~ Traverse Computation
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Title: POLYGON TRAVERSE USING CLOCKWISE ANGLES AND COMPUTATIONS Type: Polygon
traverse

Angle Summary

Station Unadj. Angle Adj. Angle
1 66°6'0.0" 66°05'30.0"
2 111°42'0.0" 111°41'30.0"
3 135°29'0.0" 135°28'30.0"

4 46°45'0.0" 46°44'30.0"

Angular misclosure (sec): 120"

Unbalanced
Course Length Azimuth Dep Lat
1-2 27.340 180°00'00.0" 0.0000 -27.3400
2-3 58.680 111°41'30.0" 54.5247 -21.6888
3-4 31.180 67°10'00.0" 28.7367 12.0995
4-1 91.080 293°54'30.0" -83.2649 36.9124

Sum = 208.280 -0.0036 -0.0169



Balanced Coordinates

Dep Lat Point X Y

0.0005 -27.3378 1 1,000.000 1,000.000
54,5257 -21.6840 2 1,000.000 972.662
28.7372 12.1020 3 1,054.526 950.978

-83.2633 36.9198 4  1,083.263 963.080

Linear misclosure = 0.0173

Relative Precision =1 in 12,000

Area: 1,800 sq. ft.

0.041 acres {if distance units are feet}

Adjusted Observations

Course Distance Azimuth Point Angle
1-2 27.338 179°59'56" 1 66°05'010"
2-3 58.679 111°41'13" 2 111°41'17"
3-4 31.181 67°09'46" 3 135°28'33"

4-5 91.082 293°54'47" 4 46°45'01"
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File Edit Format “iew Help

POLYGOM TRAVERSE USIMG CLOCKWISE ANMGLES AMD COMPUTATIONS
4 1

130 00 0O

27.34, 468 06 00
58.68, 111 42 00
31.18, 135 29 00
91.08, 46 45 00
1000.000, 1000,000
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‘M File Programs Window
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Traverse computations
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polygon traverse with angles 4y ;5 ol

BE Adjust

File  Programs - Window Help

@ Traverse Computations

~ Type of Traverse
 Link Traverse with bearings
 Link Traverse with azimuths

" Link Traverse with angles

" Polygon Traverse with bearings

 polygon Traverse with azimuths

& Polygon Traverse with angles!

-,
Enter the bype of data file.

| 112352012 1:56:51 PM
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; Polygon Traverse File
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Flaces
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